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0 Christmas Addition or Subtraction

Solve the following word problems.

Santa has 7 presents in his bag. He adds 2 more.
How many presents does Santa have now?

There are 8 reindeer in Santa's team. One of them
is sick and cannot fly. How many reindeer are left
to pull Santa's sleigh?

Santa's elves made 5 toys in the morning and 3
more in the afternoon. How many toys did they
make in total?

There are 10 Christmas cookies on the plate. Santa
eats 4 of them. How many cookies are left on the
plate?

There are 4 red ornaments and 5 green ornaments
on the Christmas tree. How many ornaments are
there in total?

Santa's elves packed 6 presents in the morning.
They packed 2 more in the afternoon. How many
presents did they pack in total?

There were 9 candy canes in a jar. Santa’s elf ate 2
of them. How many candy canes are left in the jar?

There are 3 Christmas stockings on the fireplace.
Santa adds 4 more. How many Christmas
stockings are there now?

9 Santad's sleigh has 5 bells. He adds 3 more. How
ﬂany bells does Santa's sleigh have now?
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